Churchlands Senior High School



YEAR SEVEN 2026

2026
26 921 07 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 19th December 2025 Using "8FXM" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$10.00, if placed on or before the return date of Friday 19th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR SEVEN					
	ART					
P52157	Brush Roymac Achiever White Taklon Round 04	1		1	4.90	4.90
P55233	Brush Water Colours Taklon #907/0	2		1	7.35	7.35
P55467	Document Wallet A3 PP Envelope With Stud	3		1	3.70	3.70
P55522	Eraser Plastic Pencil Economy in sleeve	4		1	0.70	0.70
P52001	Pencil (2B) Goldfaber	5		2	0.70	1.40
P50034	Sketch Block A3 25 Leaf Cartridge	6		1	5.25	5.25
	COMPUTING					
	No items required.					
	HEALTH					
P51006	Document Envelope A4 PP With Press Stud Blue	7		1	1.25	1.25
	DESIGN AND TECHNOLOGY					
P50281	Document Envelope A4 PP With Press Stud Clear	8		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	9		1	0.40	0.40
P50271	Pencil (HB) Goldfaber	10		1	0.70	0.70
P56245	Sharpener Pencil Metal Single Hole (HQ)	11		1	0.90	0.90
	ENGLISH					
P56098	Pen Ballpoint Bic Cristal Blue	12		4	0.65	2.60
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	13		1	15.95	15.95
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	14		2	1.80	3.60
P50859	Highlighters Pkt 6 Assorted	15		1	8.95	8.95
P52001	Pencil (2B) Goldfaber	16		2	0.70	1.40
P50281	Document Envelope A4 PP With Press Stud Clear	17		1	1.25	1.25
F83474	Churchlands SHS Year 7 Reading Plus Digital Resource	18		1	16.00	16.00
	Please provide payment to Campion. Access details will be provide	d by School				
P54567	2026 Diary A5 Student Cumberland	19		1	2.25	2.25
	Students are required to use a diary to record homework and stay of choice for your child or select this recommended option.	organised. Yo	ou are welco	me to purc	hase a dia	ary of your
	FRENCH					
F83475	Churchlands SHS Language Perfect Subscription French Yr 7	20		1	27.50	27.50
	Please provide payment to Campion. Access details will provided b (Compulsory)	y School.				
P55442	Display Book A4 20 Pocket Black Refillable	21		1	2.30	2.30
P51617	Exercise Book A5 48 page 12mm PP Cover #P1185 Spirax	22		1	1.10	1.10
	HUMANITIES & SOCIAL SCIENCES					
P55442	Display Book A4 20 Pocket Black Refillable	23		1	2.30	2.30
P50281	Document Envelope A4 PP With Press Stud Clear	24		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	25		1	0.40	0.40
P52129	Exercise Book 225x175mm 96 Page 8mm Premium Writer/Splash	26		2	1.45	2.90
P50613	Highlighters Pkt 4 Assorted	27		1	7.70	7.70
P56098	Pen Ballpoint Bic Cristal Blue	28		6	0.65	3.90
P52001	Pencil (2B) Goldfaber	29		2	0.70	1.40
P56252	Pencils-Coloured 12's Colourush	30		1	4.85	4.85
P50090	Ruler 300mm Wooden Celco	31		1	1.10	1.10

Please tick the items required in the box provided \downarrow

			$oldsymbol{\checkmark}$			
Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
D45540	JAPANESE					40.0=
P15540	Obento Deluxe - Workbook (Print & Digital) 5E [Kusumoto et al]	32		1	49.95	49.95
	PLEASE ENSURE YOU PURCHASE THE 5TH EDITION. As this is a workbook, it must be purchased NEW. Students will retain	thic work	hook for no	vt voar		
P55442	Display Book A4 20 Pocket Black Refillable	33		1	2.30	2.30
P51617	Exercise Book A5 48 page 12mm PP Cover #P1185 Spirax	34		1	1.10	1.10
P50271	Pencil (HB) Goldfaber	35		1	0.70	0.70
1 0027 1	May use a mechanical pencil instead.	33		'	0.70	0.70
	MATHEMATICS					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	36		2	2.25	4.50
1 00020	One exercise book per Semester.	30		2	2.23	4.50
	Ruler		Choose One			
P50090	Ruler 300mm Wooden Celco	37		1	1.10	1.10
	- OR -					
P56414	Ruler 300mm Plastic Clear Marbig	38		1	0.75	0.75
P51020	Calculator Sharp Scientific EL506TS	39		1	51.75	51.75
	Any scientific calculator will be sufficient. YR 7 E-RESOURCE					
F83476	Churchlands SHS Year 7 Digital Mathematics E-Resource	40		1	24.00	24.00
	Please note that students are required to purchase this for their Mathe Access to the E-Resource will be provided by your child's teacher.					
	MUSIC					
P50547	Earphones Ear Bud With In Ear Drivers and Microphone	41		1	15.95	15.95
	Walkman/Pod type earphones also suitable.		_			
P55454	Display Book A4 20 Pocket Premium Black	42		2	5.50	11.00
	One display book for the Choir and one for music class worksheets.		_			
P58510	Eraser Plastic Pencil Large With Sleeve	43		1	0.40	0.40
P52001	Pencil (2B) Goldfaber	44		2	0.70	1.40
P56245	Sharpener Pencil Metal Single Hole (HQ)	45		1	0.90	0.90
	SCIENCE					
P50281	Document Envelope A4 PP With Press Stud Clear	46		1	1.25	1.25
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	47		1	1.80	1.80

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ORTIONAL STATIONERY					
	OPTIONAL STATIONERY PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTION B					
	Option A					
P79672	Secondary Stationery Pack COMPLETE SECONDARY STATIONERY PACK WITH REDUCED PRICING	48		1	68.00	68.00
	Retail Price: \$79.60 Cost Saving: \$11.60					
	Resource List Special Price: \$68.00					
	OR Option B					
	SELECT INDIVIDUAL ITEMS AS REQUIRED					
P55110	Binder A4 2D Ring 25mm PE Black	49		1	6.65	6.65
P55442	Display Book A4 20 Pocket Black Refillable	50		1	2.30	2.30
P55449	Display Book A4 20 Pocket Red Refillable	51		1	2.35	2.35
P50281	Document Envelope A4 PP With Press Stud Clear	52		1	1.25	1.25
P50694	Document Envelope A4 PP With Press Stud Red	53		1	1.25	1.25
P58510	Eraser Plastic Pencil Large With Sleeve	54 55		2	0.40	0.80
P50450 P50451	Exercise Book A4 64 Page 8mm with Margin #106 Spirax	55 56		4	1.40	5.60 3.60
P51353	Exercise Book A4 96 Page 8mm with Margin #108 Spirax Glue Stick 40gm Artline Purple	56 57		2 1	1.80 2.95	2.95
P51157	Highlighters Pkt 4 Micador ECO	58		1	3.85	3.85
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	59		1	4.25	4.25
P50113	Markers Faber Project Wallet 12 Assorted	60		1	3.65	3.65
P56213	Pencil Case 340x170mm Name Large	61		1	3.75	3.75
P56252	Pencils-Coloured 12's Colourush	62		1	4.85	4.85
P50006	Pencil (HB) Columbia Crestmark	63	$\overline{\Box}$	3	0.35	1.05
P52001	Pencil (2B) Goldfaber	64		2	0.70	1.40
P56094	Pen Ballpoint Cap Type Black Medium	65		2	0.35	0.70
P56095	Pen Ballpoint Cap Type Blue Medium	66		4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	67		4	0.35	1.40
P56329	Pocket Plastic A4 11 Hole Box 100	68		1	7.20	7.20
P56414	Ruler 300mm Plastic Clear Marbig	69		1	0.75	0.75
P50161	Scissors 170mm Maped Plastic Handle	70		1	2.45	2.45
P56242	Sharpener Pencil Barrel Double Hole (EL)	71		1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	72		1	14.05	14.05
	Number of Boxes ticked:					
	Postage (Home delivery only)		\$10.00	_		
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 17/11/25)		\$	_		